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1. What is the n™ term of the sequence|d. IfA=ixeZ: x*~1=0}and
25, 125, 625, —3125, ... ? B={xeZ:x"+x+1=0], where Z is set of
Bn—1 complex numbers, then what is A N B equal
{a) - (=5) 9
to 7
h]‘ l:l_r:lﬂn 5ﬂ+1
5 (a)  Null set
i =1 gn+1 )
e =T @ zledBi -1-4Ei]
(d) i ”n—l 5'1+1 1 2 2 I‘

f(:_} [-—-1*5}@1’-1'—\[3_1}
| 4 4

2.  Suppese X = {1, 2, 3, 4} and R is a relation on - {1 VB 1- i i}

X.IR=1((1, 1,12 2),(3,3),(1,2),(21),(2,3), 2 )

(3, 2}, then which one of the following is
5.  Consider the following statements for the two
correct.?

non-emphy sets A and B :

ia) R is reflexive and symmetric, bul not

transitive 1. ANBIUMANBIU(ANBI =AUB
(b} R is symmetric and transitive, but not 2. (AU(ANB))=AUB
reflexive

: A - Which of the above statements is/are correct ?
(e} R is reflexive and transitive, but not

symmetric {a) 1only
: : \ (b}  2only
id) Ris nmthur reflexive nor transitive, but ) Bothland2
symmetric

{(d) Neither 1 nor 2

6. Let X be a non-cmpty set and let é'!u,- B, C
be subsets of X. Consider the following
statements :

1, AcC=ANBciCnB),
(AURBIc(CUB)

{a) R is reflexive and symmetric, but not 2. (ANBIcCNB)forallsets B AcC

3. A relation R is defined on the set N of natural
numbers ag xRy = A - dxy + 35r‘ =0, Then
which one of the following is correct ?

transitive 3. (AUB c(CUB)forallsets B=AcC
(b} R is reflexive and transitive, but not Which of the above stat;e:nenla are correct ?
symmaetric (a) 1and?Z2only
() R isreflexive, symmetric and transitive (b)  2and 3 only

{e}  1and3only

idl R is reflexive, but neither symmetric nor @ 1, 2and3

transitive
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(c)
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11.

12,

13.

14.

15.
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a4+ 2224 22+ 1=03
274 120 % wrd g #

(a} =1,
by 1, w?
(@ -1,0°
d  w w

I €120, n +2) = C(20, n — 2) %, AT n fFoF
T 2 7

fa) 8

(hy 10
ey 12
dy 16

T GAAE W10 @ | 3 fagai 0 1 w5 o
o g % e Yen | T | 39w e
1 F Hem fradt & < 7 fageil =1 Siew
HATE W FeHA E

la) 80
{h) 45
{c) 40
{d) 30

a 37 b, BHE px® + gx +r =0 (T8 p, q. ¢
aft o €) ¥ fim avafes @ B
fr=fafes o & wF-w o 9@ 2 ¢

fa) a=0 b=>0

ib) a<0, b=<0

(e a>0 b

idy a<0, b=0

T A=A, {4, ) B, G AW HE ag=T (9
a2) 3

(a) o, (0], (A}, {4, p})

(b)  Aa, (2], {2, pll, (242, wih
te) Ao, {2), R, b, 1A, D b
(d)  {{AL (&, uh A, LA, phl



3 2 0
e ITB=|2 4 0|, then what is adjoint of B
11 0]
equal to ?
0 0 0
(a) 0 o 0
=g =1 &
0 0 -
) |0 0 -1
0o 0 8 J
0 0 2
(c) 0 0 1
0o 0o 0
{d) It does not exist
8. What are the roots of the equation
|xl‘3—~x-6|=x+2? '
fa) -2,1,4
by 0,24
cd 0,1, 4
dy -2,2,4
0 1
9. If A= i al then the matrix A is a/an
(a) Singular matrix
(b}  Involutory matrix
{¢) Nilpotent matrix
(d) Idempotent matrix
x =3 1 'I
10, If |y 1 i |=8+11, then what are the
0 21 - iJ
values of x and y respectively ?
(ay -4,4
(by 3,4
(e} 3,—-4
(d) -8, -4
EDF-5-DGV
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12,

13.

14.
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The eommon rToots of the equations
z° +2z° + 22+ 1=0and zmw+;2mﬂ+1={]
are

(a) -Lw

m 1,0

e} -1, w”

() w0

If C(20, n + 2) = (20, n — 2}, then what is n

equal to ?
(a) 8
(b) 10
e} 12
tdr 16

There are 10 points in a plane, No three of
these pointsare in a straight line. What is the
total number of straight lines which can be
formed by jeining the points ?

(a) 90
(h) 45
ey 40
(dy 30

The equation px2 +gx + 1 =0(where p, q, r, all
are positive) has distinet real roots a and b,
Which one of the following is correct 7

(a) a>0 b>0

(bhy a<0, b<0

ey a=0, b=0

id) a<0, b>0

If A = A, [4, utl, then the power set of A is
(a) ¢, {0k {A), 1A, pt

(h)  d, (AL HA, b AGA, ulih

(e) b, [R) 44, pd, (2 1R, il

(d) (A, (2, i, 12, {3, uih
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20 ¢a &g o v N1 @ea # | S

16. foarea § ol 1 =Em e F A wewdl |20, 6 W o 4 TRl A @, vek wEiea

%0 5 =aferat @t el @ =TEa @ | T fe sen
(@) 123 # fhm 1 awmar & il FAH-FW v e
(by 111 < i srava g 2
(c) 95 (a) 209
@ 63 b) 210

{e) 246

17. frme # om@ & sfieo den feedl @ (@) 242

Heell & 7
21, [(2x - 3y)° 2x + 8y} & fowm # wei &
(a) 111 - - % o
(b) 123 "y |
a
{e) 125 ® 5
)
(d) 185 © @
d) 16
18, IR A HIE 3 F1 vk doowE AgE B, @
THHI/FEE Ffe™ (A 22, (1+ax)" % faeam o, west 7 g2 waw: 1, 12x
(a) P SRR o wUW R #i 64x* 8 | n foperh T 2 2
(b) A% TR B ® €
(h) 9
{¢) 3A S =TeA R
e}y 10
() 1 it 78 B ) 12
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Consider the following for the next 02 (lwo)|19. A is a square matrix of order 3 such that its
items that follow : determinant iz 4. What is the determinant of

its transpose ?
In a =chool, all the students play at least one of

three indoor games — chess, carrom and table IREm
tennis. 60 play chess, 0 play table tennis, 48 play (b) 36
carrom, 12 play chess and carrom, 15 play carrom (c) 32
and table tennis, 20 play table tennis and chess. dy 4

[l

20. TFrom 6 programmers and 4 typists, an office
16, What can be the minimum number of students

IR wants to recruit 5 people. What iz the number
in the school 7

of ways this can be done so as to recruit at

fa) 123 least one typist 7
(by 111 (a) 209
(e} 95 (by 210
(d) 63 (c) 2486
(d) 242

17. What ecan be the maximum number of
21. What is the number of terms in the expansion

students in the school ? : o5
of [(2x — 3y)" (2x + 3y)°1° ?

@ 111

b 123 A

teh 125 =

d) 135 ® ?
@ 16

18. If A is an identity matrix of order 3, then its | 9g

S In the expansion of (1 + ax)”, the first three
inverse (A7)

terms are respectively 1, 12x and 64x>. What

(a) is equal to null matrix iz i equal to ?
; fal 6
(b) iz eqgual to A
by 9
15 eqqual to 3A
{c) isequa © 1o
(d)  does not exist dy 12

EDF-S-DGV (7T-A)



23.

24,

25.

G 1, 5 3R 25 A 95 (FEFTE ®Y HOEET
SATETaH T ) ' Hhd §

(a) ac Uh AP

UE T Aferen 1 ufifie dem i AP
(¢) HA9Tfia TEn 4 APs &

ftfi wea § GPs %

(hi

(d)

TRt AP (p+ qd 3N (p — g)F BT =T ITHA

. R
(a) (2p)d U5 %H
(b) (27 95 %
(¢) pd 95 HFHH

d @ RFETHF

I A, FE 0 > 1 FL.TF T AR, Aol
frfafea # & wH-1 vt & 2

{a) det{—A)=detA

(b} det(-A)=(—1"detA
ic) det (=A) =— det A

id) deti—A)=ndetA

26. 25 cosec® x + 36 sec” x H ZAGH HH I
g
(a) 1
(b) 11
(© 120
@ 121
EDF-S-DGV
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Tt Hr arer 02 (F1) el & fore et @
farame &ifaw -

27.

28.

oH efifse A 3 B, (3 x 3) IegE B W@
det A=4 3 detB=37%8 |

det (2AR) forass smat & 2

(a) 986
by 72

(c) 48

d) 36

det (3AR™Y) Forereh s & 9

(a) 12
by 18
c) 36
d) 48 ,
TSI J163 02 (7)) vl & fore fAafefem o
fareme &ifa -
- TF [y TENm W OWHR 4 M 2 %
g 12
T

29.

30.

z =Rl 9T &1 2 ?

fa) 4
(b 2
er 1
1
{IIJ E
2 1 q&H IV 41 8 7
fa) O
I i
(b 1
ird
{CJ E
idy =
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28. The numbers 1, 5 and 25 can be three terms | Consider the following for the next 02 {two)
{not necessarily consecutive) of itemns :

€ 3x3 tri i tA=4
(a)  only one AP Let A and B be (3 x 3) matrices with det A

and det B = 3.
{h)  more than one but finite numbers of APs
(e}  infinite number of APs 27. Whatis det (2AB) equal to?
idy finite number of GPs (@) . 96
(b} 72
el 48
(dy 36

24, 'The sum of (p + q]th and (p - q'f'h terms of an

AP is equal to
98. Whatis det(3AB™) eguélto?

(a) (Ep}ﬂ‘ term fa) 12
) (2™ term & 28

fcy 38
(@) Twice the p* term (d) 48

(d) Twice the qth term
Consider the following for the next 02 (fwo)
ilema :

1+2i

A complex number is given by z = e
1-(1-1i)

25. If A is a square matrix of order.n > 1, then

hich one of the following i et ?
which one o iR 1R corry 29. What is the modulus of z 7

(a) det(—A)=detA

(a)] 4
(by det{—A)=i(-1)"det A b 2
ich det {— ﬁ] ==det A {L:' 1
{d) ‘deti-Al=ndet A 1

(d) 3

26. What is the least value of | 30,

What is the principal argument of 2 7
25 cosec? x + 36 sec® x ?

(a}) O
fal 1
™
(b) 11 by =
] 120
te (c) —;‘-
) 121
d) =

EDF-5-DGV (9-A)
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sin 34° cos 236° — sin 56° sin 124°

H AA F1|35. BHE HH TR ?
cos 28° cos 88”4 cos 178 sin 208° ?

'%? {a) =1
(a) -2 by 0
by -1
@ 2 ey 1
(d) 1 d) 2
32. tan 54° I fhm whn st Ren s wwar | W oA aTR 02 (31) vt & fem Referfem w
29 faramy #iforg
(@) 204 cos @ 7 foam R % cos (0~ 0) = a, cos (0-P) = b
&in 97 — cos 9° % |
(b 5N —cos 9
gin 9° + eos 9°
) 3e6. cns(awﬁ}mmt?
(© cos 9% 4 gin 9°
cos 9" — gin 9° (a) ab + ||1_ aﬂ ﬁ.lll— hﬂ.
() sin 36° 2
cos 86° () ab- J1=a? |1 b?
ST AT qTE 03 (A1) FvAl & ferg Ao o () Dadl— b2 ~baf1-aZ
Feramy oo :

f 2 —
qﬁp=xcoaﬂ—Yni:zﬂ,q:Ksinaq.Ymga (d) ay1-b +]:-J1-a

AR p? + dpg + g = AX? + BY? &) @l
37. sin? (o —P) + 2ab cos (o~ P e awm & ¢

0<h< —E Bl
33. 0 AHEE 2 () a4 b?
() E by a’-b®
w (¢) b%-a?
8 (d  ~(a+bd
() E
—_ 38. 3 sin o + cos « = p ‘S, @l cos? (20) ForEeh
6 T R 7
34, A HEAFIR? @ g
::i : )  pi-1
© 2 () pi2-p%
(d) 1 ) pP+1

EDF-S-DGV (10-A)



31. What is the value of
sin 34° cos 236° —sin 567 sin 124”
cos 28° cos 88° + cos 178 sin 208"
a) =2
i -1
icy 2
idy 1
32. tan 54° can be expressed as
(a) s8in 9° + cos 9°
‘ gin 9° — pos 9°
gin 9% — ooz 9°
h by N e e
(b) 2in-9° + cog 9°
g LE+tsim9
cos 9% — sin 9°
sin 36°
[ _—
) cos 367

Consider the following for the next 03 (three)

ifemns ;
Hp=XcosO—Ysinb,qg=Xsinb +Ycos8
and p’ +4pq + qf =AX" + BY”, 00 7.

33. What ia the value of 8 ?
I
ia)l —
B B
T
by =
3
T
} -
L 1
Y T
] 2L
d) 8
34. What 15 the value of A 7
(a) 4
by 3
c) 2
dr 1
EDF-5-DGY
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What is the value of B ?

(a) -1
(b} 0O
fed 1
dy 2

Consider the following for the next 02 (two)
items ;

36.

37,

38,

(11-A)

Tt iz given that cos (8 — o) = a, cos (B — i) = b.

What is cos (e — ) €qual to 7

{al- ab+ Jl—ai u'r-{_— b
(b) abs J1—aZ {1-b?

ay1-b? —byl—a®
J—

(d) ayl1-b® +bhy1-a®

icl

What is sin® (@ — f) + 2ab cos (¢t — f) equal
to ?

(al) aﬂ + h2
(b) a®-b
(&0 b°-a’
(@ —(a®+b%

If sin @ + cos o = p, then what s cos” (20)

equal Lo ?

{a} p:a

) p°-1

@ pi2-p?
(d) pz +1



14 C—15 b

39, sin Fhsed L 2 o A T8 7 42,
L b4
j WEET
(a 1
Ly
(b) :
icd =
(dr 0
2
40. "ﬂf&sin‘i—zp—,———cu_”-q = tan"! 2
1+p‘1‘ 1+q2 1-x2 |48,
2, df x frEe sEt 2 7
(a:] P_‘Hl
1+pg
p B9
1+pg 44,
pq
(c) s
@ 249
1-pq
41. ﬂﬁtan'EI:El-GﬂTtancp=%%,Fﬂm+{pJTﬂ45.
UH R ?
(al O
b A
(h) 8
iT
{C] 4—
14
(d) %
EDF-S-DGY (12-A)
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\I A
qﬁ cos A = ; %, it sin[%j ﬁin[%J =l AH

R 7
(a} g
(b) 15_5
(c) %
@ %

tan 75° + cot 75° %1 0H F1 8 7

(a) 2

(b}

(e) 243
@ 43

cos 46 cos 47° cos 48° cos 49° cos 50° ...

eos 135
I OH F1 & 2
ta) -1
by O
c) 1
(d) 1% siftep

aﬁsm2ﬁ=msae,s|ﬁﬂ{a«:§%ﬁhsina
foreer wymL 2 2

1."'5+1
4

i |
4

V5 +1

16

¥5 -1

16

(a)

(b}

(c)

(d)




ey

.14 5 7
39, What is the value of sin' =~ +sec 12 - 1 7
5 4 2
N
S
(a) 7
m
b I
(b} 2
{c) =
{dy 0
_ 2
40. If sint 292 —co$_11 ":l2 R Exz,
1+p l+q 1-x

then what is x equal to ?

p+q

(a) Ton

p—q
1+pg

th)

Pq
(c) —
1+pg.

(d)

d41. If tan 6= —é— and tan ¢ = %, then what is the

value of (8 4+ q) 7

tad 0
(b) %
(c) }
() %
EDF-S-DGV
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43.

44.

45,

{13-A)
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[

If cosA=—,

4
5 5
:ain[E | sin(-w--»J ?
2/ 2

then what is the wvalue of

5]
(al E
o
ith) ﬁ
5 =
24
7
gy o
i(d) -

What is the value of tan 75° +eot 75° 7

{a) 2

ibhy 4

© 23

(d) 448

What iz the wvalue of

coa 46° cos 47° cos 48° cos 497 cos H0°
' cos 1352 7

(a) -1

(b 0O

e} 1

(d)  Greater than 1

If sin20=cos38, where 0O<f8< %, then

what is =in & equalio?

ta) J5 +1
4
(b 2@4"_1
(e) ng; :
(d) “51; :



486. ?Iﬁ'ﬂ'fﬂmx2+px+q=ﬂa3qfﬁtan19”3ﬁ'{ bl1.
tan 26° #, a1 F=ffgs ¥ 4 S99 v He
B 7
fa) gq-p=1
(h} p-g=1
e} p+g=2
(d}) p+g=3
47. n Y afl uw AP frEs wg w1 AR
nin + 1) 8, &1 =97 92 W1 2 2
fa) 6
by 8
(e} 12
(d) 20
48. (1 +tan « tan ) + (tan o — tan B)° —
scczumczﬁ
foFger == & 7
(a} 0
by 1
ey 2
(dy 4
49. 77 p=cosecd—cot® N g = (cosec 0 + cot 8)"
2, 1 Frafafias 4 8 sF-91 0 98 2 7
(a) pg=1
(b} p=q
el p+gq=1
dl p+q=0
50. Ife v s ABCH FW 1:2: 3% U 8
&, af T e e s F E 0
(a) 1:2:3
by 3:2:1
(€) 1:43:2
(d)  1:43:42
EDF-S-DGV (14-A)
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ﬁﬁmiﬁﬁmﬁwﬁﬁm:

1. U g fmes g, Tia wid §,
xeos O+ ygin0=p %, q’(ﬁl@ (ct, [3}
¥ #H® m owm f R
|ecos B+ PsinB+p| B |

2. fag m,B}ﬁi‘ET—l—_lme"férrq
'E'Fﬁ'iﬁm arz+bﬁfab %I

',|'a=,12+i:|2

ITAE FuAl 0 H S WE 8 2

(a) “Had 1

(b) = 2

(¢) 132 gEt

(d) A1, AE2

52. UH 9 x° + y* = a” & U @1 I =H THH

%@WW%IWW,}@TX+}?:&W
fra & | 99 =1 w0 2 2

(al xg+y3—ax—ay+azzt}

{b) x2+y2—a_x—a}r=ﬂ
x2+y2+ax+ay=ﬂ

{c)

(d) x2+}r2+ax+ay—2a2:{]



46. If the roots of the equation x° + px + q = 0 are
tan 19° and tan 267, then which one of the
following is correct 7
{a) q-p=1
by p-q=1
{¢) p+q=2
d) p+g=3

47. What is the fourth term of an AP of n terms
whose sum isnin + 1} ?
fal 6
{b) 8
(e} 12
(dy 20

48, What is
{1 + tan o tan [ﬂz + (tan o — tan ﬁ}z -

sec” o sec’ p
equal to 7
fa) 0O
(bl 1
e} 2
(d) 4

49. If p = cosec 0 —cot 8 and q = (cosec 0 + cot ),
then which one of the following is correct 7
(a) pg=1
(b) p=gq
(c) pege=1
id) p+g=0

60. If the angles of a triangle ABC are in the ratio
1:2: 3, then the corresponding sides are in
the ratio
() 1:2:8
by 8:2:1
(€) 1:43:2
@ 1:43:V2

EDF-S-DGV
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Consider the following statements ;

1. For an equation of a line,

xcos8 0 + ys8in 0 = p, in normal form, the
length of the perpendicular from the
point (o, [}) to the line is

|ecos O+ [Isin0+p|.

2, The length of the perpendicular from
the point (ct, P) to the line =+ ﬁ =1 is

a
‘au +bf - ab

‘ |,|I||15"’l + b2

Which of the above statements is/are correct ?

(a) 1 only

tb) » 2only

{e} Both1and?2
(d)  Neither 1 nor 2

A circle is drawn on the chord of a circle

x% + y? = a® as diameter. The chord lies on the

line x + y = a. What is the equation of the
circle ?

{a) x2+y2-ax—ny+nu=ﬂ

(h} x2+yg-ax-ay={}

el

x2+y2+nx+u}"=ﬂ

(d) x2+3r2+ax+ay-2azmﬂ
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53. Uk degd W Rl fag 1 it gien (57, 9fE W@ 8y 4 dx =1,y = x4+ 5 3 5y + bx = 3

AT 3T & 37 98 W B et &, & b W UH g 2
(a) &9 Wt hl TS @ 1
(b) @ w1 i THEE by 8
(c) rfireiar <t ereaTs & € 6
(d) b IR adog e i o+ @
e o :

58, 39 OiE W F HF0 TR A y=x W T9

54. Tt 2x” - 3y” -6 =0 Frfid @ 2 3 (3, 2) ¥ B TECA R 2

(a) THaA
fa) x-y=§
(b} U= AT
(b) x+y=5
{c) U,%Eﬁ‘?jgﬁ
@) T R e} x+w=l
{d} JL—-}':].

55. T 9IEEY v¢ = dax 3 xF = day Ul @

g 59. o @ ~4=083 -4 =0 &R
(a) M@ y=x T TEE g fage w = o

X + 3y — 4 = 0 T Frger =Tt §; 7 fingw

(b) hae qei-farg W
© o Bz w REE A gk o ow| @) THEER
feora 2 (b) wHeIfT
(d) a4, 4a) T " e
(d) foremag 2

56. g (1, 8) 9 (5, 1), Tk @A F T TgE i

Bloaa gyl @ y=2x+c W E | cT
60. FAx"+y +dx Ty +12= 0 G y-31& T HIe

uH e 2
T U o W RS we R 0
{a) 2
{a) 1
(hy =2
(b} 3
(o) 4 (e) 4
(d) -4 dy 7

EDF-S-DGV (16-A)



653. The sum of the focal distances of a point on an
¢llipse is constant and equal to the
fa) length of minor axis
ib)  length of major axis
(e} length of latus rectum
id) sum Di: the lengths of semi-major and
semi-minor axes
54, The equation 2x” — 3y% — 6 = 0 represents
(a) acircle
(b} & parabola

(] anellipse

(d) a hyperbola

55. The two parabolas ¥° = dax and x* =.day

intersect
(a)  attwo poinig on the line y = x
(b}  only at the origin

{¢) at three points one of which lies on
y+x=0

(d) only al (4a, 4a}

The points (1, 3) and (5, 1) are two opposite
vertices of a rectangle. The other two vertices
lie on the line ¥ = 2x + ¢, What is the value of
ei?

(a) 2
(b
ey 4

dy -4

EDF-S-DGV
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58.

|59.

60.

(17 -A)
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If the lines 3y + dx = 1, ¥y = x + 5§ and
5¥ + bx = 3 are concurrent, then what is the
value of b ?

(a) 1
by 3
ey 6

1
d =
(d) 5

What is the equation of the straight line which
is perpendicular to y =x and passes through
(8,2)?

(a) x-y=58
(b} x+y=5
() =x+v=1
di x~-y=1

The straight lines x + y-4=0,3x+y-4=10
and x + 3y =4 =0 form a triangle, which is
(a) isosceles
(b)  right-angled
(e}  equilateral
(d)

scalene

The circle x° + },2 + d4x — Ty + 12 = 0, cuts an
intercept on y-axis equal to

fa) 1
(b) 3
ey 4
(dy 7



61. A(2, -3, 3), B5, -3, — 4) 3 C(2, -3, —2) ¥fiuf
aTel Tk S 1 F wEa fag R o
(a)  (-3,3,-1)
by (3,-3,-1)
el (3, 1,-3
(@ (-3,-1,-3)
62. T x? 4 y® + 45 —Bx+ By — 102+ 1=0
frem w22 '
‘) B
b 2
ey T
(d) 3
63, TUTAI2x +y +22=90 M dx -5y —4z=17%
yfmaigr 3 famg (3, 2, 1) @ oG 916 @WAS
1 gt = R 7
(a)  10x—2v+22=28
by  10x+ 2y + 2z = 28
{e) 10x+2y—-3z=28
{d) 10x-2y-—2z=24
64. T THACT 4x — 2y + 4z + 9 = 0 N
Bx~4y+82+21=ﬂ%$’aﬁ§ﬁ‘ﬁ’m%?
1
} Frez)
(a 2
1
I e
() 7
3
(e -
) 5
7
d L]
(d} 2
EDF-S-DGV
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67.

68.
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-8 o T iams &1 § 7
) =1,1,1=
by =<1,0,0>

ey <0,1,0>

(dy <0,01=

aff @ = i-2f+sk ol B =2f + % -ak
3,9 (b —a).8a + b))k amm g0
(a) 106

(b)  —106

(el 53

(d) -59

afz fagal A st B & feufs wfm s
3?—2t‘i+ﬂ3ﬂ'{_2?+4}—3ﬁ§,ﬂ:‘[ A_ﬁ
R

a) 14
(b) 29
(c) /43
(d) 53

Iz v wmr Bys ABC 4, a:ﬂarﬁp% t
AR . AC + BC . BA + CA . CB foas
FUET R 7

(a) p
(b) 2p
2

P
T
(¢ 5

dy p



61. The centroid of the triangle with vertices
A(2, -3, 3), B(5, -3, — 4) and C(2, -3, -2} is the
point
(al  -3,3,-1)

(bl (3,-8,-1)
(e} (3,1,-3)
(dy (-3,-1,-3)

62, What iz the radius of the sphere
x2+}'2+z2—6x+8§r—1{]z+1:{]?
(a) &

(b) 2
(e} 7
(d) 3

63. The eqguation of the plane passing through
the intersection of the planes 2x + v + 2z = 9,
4x — by — 4z = 1 and the point (3, 2, 1) is
(a) 10x-2v+2z=28
(b} 10x + 2y + 2z =28

- {g) 10x+2y—22z=28
(d) 10x—2y—32z=24

64. The distance between the parallel planes
dx -2y +dz + 9 =0 and Bx — 4y + Bz + 21 =0
is

1
a) —
(a 1
1
b =
2
3
l: . i
c) 5
7
(d -
4
EDF-5-DGY
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What are the direction cosines of z-axis ?
(a) =<=1,1,1>
(b} <1,0,0>
(e} =<0,1L,0>

d) <0,0,1>

— M o A > A A A
Ifa =1-2j+5kand b =2i + j —3k

- R
then whatis{b — a ).{3a + b Jequalio?

(a) 106
(b) —106
(c) B3
dy -83

If the position vectors of points A and B are
F
3? -2+ I:, and 27 + 43’ -312 respectively,

then what is the length of ﬁ_ﬁ 2

(a) 14
(b) 29
(¢) 43
(d) /53

If in a right-angled triangle ABC, hypotenuse
AC = p, then what is

— = — = —=
AB . AC + BC . BA + CA . CB equalto?

(a) ]:a2
(b} 2 p2
2
g A
(e} 5
dy p



69. afdsi a=2i-6j-3k st B =43+3]-k
%ﬁa%a&mmwtsmeﬁ
(af i
26
5
(b)
V26
el i
26
1
{d) 28
70. » 1 8 "W wm & fyas fow aRw

31 +4] - k sl aRwm-21 +4j + 10k

GECE &I

T2.

73.

fa) 1
74.
by 2
te) 3
dy 4
71. x % A& sec” (tan~' x) = Yo F41 2 7
5.
(a)  9x
(b) x>+1
el x+1
(dy %
EDF-S-DGV (20-A)
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% fix) = log, (1 + x) 8, @
dft4) + 1) - logy, 2 ToFEeh T 2 2

fa) 0
(b} 1
» ley 2
(dy 4

{'l,’xilzin{\llx2+]_ axiﬂmqﬁmﬁﬁﬁw f,
7

(a) TH Y FEH
(b) T e e

(¢) @A AR Ry v gl
(d) o o = 3 T A A e

fix) = log, 10 GRT IRWIFYT HEA £ 6] 28 3
tal x=>10
(b x=1ﬂﬁ€'§§,$!,x>ﬂ

el x=10
(d) x=17% BEH, x>0

_ 3
limﬁ R T 2 2

x =0 x
fal 0
thy 12
(¢} 24
(d) 36



69. The sine of the angle between vectors
—% A A A — A A A
a =2i-6j-8kand b =41i+3j-k
is
1
{a} =
J26
(b -
J 26
A
3] 38
1
dy —
26
70. What is the value of A for which the vectors
A ) A A e A
3i +4j — k and <27 + & j + 10k are
perpendicular ?
{a] 1
by 2
(el 48
(dy 4
71. What is thé derivative of sec” (tan ' x) with
respect to x ?
fa) 2x
) x*+1
(eh x+1 :
@
EDF-5-DGYV
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If flx)=1logy(1+x), then what is
4f4) + 501) — log;, 2 equal to ?

ta) 0
by 1
(e} 2
dy 4

A funetion f defined by fix) = In (Jﬁ - x)
is

(a) an even function

(b}  an odd function

(c) Both even and odd function

id) Neither even nor odd function

The domain of the function f defined by
f(x} =log, 10 is

fa) x=>10
(h) x> 0excluding x = 10.
) x=10

(d) x>0excludingx =1

3

1—ecos” 4x |
is equal to

lim 3
x> X

al O
thy 12
ic) 24

(dy 36



76.

r>0 % fo, BFm » % v g9 & gm0
BA%A § IF9E fir) B | A9 R1) + 12) e
TR ?

() 1
by 2
(el 3
d) 4
77. 3fE fix) = 31" 2, T fix) fiy) fz) fFas s
®?
fa) flx+v+z
(b} flx+y+z+1)
ey fix+y+z+2)
dl fix+vy+z+3)
78. W ¥ + 9|x| + 20 = 0 % fow Anafaw
el i wew @
(a) I
(b} U=
¢ @
(dy =
79. A fix) = sin (cos x) B, A '(x) Foreh T 2 2
{a) cos{cosx)
ib} sin{—&in x)
(e} (sinx}eos (cos x)
{d}) (- sin x) cos (cos x)
80. BEH flx)= J2-x)(x—3) FHI A B
fa) (0, o)
by [0, =)
(c) [2,3]
idy (2, 3)
EDF-S-DGY

81.

82,

83.

(22-A)
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Heaehe gHleRI %:ms{y—-x}+l HEA B
X

(a) e[sec(y—x)—tan(y—x)]=¢

(b)  e*[sec(y—x)+tan (y -x)] = ¢
{e) e'secly—x) tan(y—x)=c¢

(d) e"=csec(y-x) tan(y—x)

il
j |sinx —cos x| dx ToFEeh atER 2 9
0

ial O

() 2(V2 -1)
© 242

d 2G2+1D

Tfa y=acos2x+bsin2x &, Al

(a) gﬁl +y=0
(b) g:gi +2y =0
(c) :xig -4y =0
(d} % +4y=0

urg 1 U & T i uw ad dem (eauf
U AHARRR YR 3R 2dgamern ol aren)
H g # | afe ge v dFwe 1 —gAan
@ A, q 3 sem il FEE F AU
ol % = & aruTa @ g 2

fa} m:(m+2)

(b} (m+2):m

e} 1:1

(d) I H A FE A



76. Torr >0, fir} is the ratio of perimeter to area | 81,
of a eircle of radius r. Then i1} + f{2) iz equal
Lo
a) 1
ihy 2
ey 3
dy 4
77. If fix)= 3", then fix) fiy) flz) is equal to
a) flx+y+z) 82,
b flx+vy+z+1)
ey fix+y+z+2)
(dy fix+y+z+3)
78. The number of real roots for the eguation
2 +9]x] +20=0is
(a) Zero 83,
th} One
ic)  Two
(d) Three
79. If fix) = sin (cos x), then ['(x) isequal to
(a) cosl(cos x)
(b} sin{—sin =)
(¢) (gin %) cos (cos x)
{d) (—sin x) cos (cosx) il
80, The domain of the function
fix)= J(2-x)(x—3) is
(a} {0, =)
by 10, =)
e) (2, 3]”
idy (2,3)
EDF-3-DGV (23-A)
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The solution of the differential equation
c:_y =cos(y—xl+1is

ax

(a) e [sec{y—x)—tan(y-x)]=c

(hy e [sec(y—x)+tan(y-x)] =¢

{€) e seciy—x) tan(y—xl=c¢c

(d) e =c¢secly—x) tan iy —x)

2
J |sin x — cos x| dx isequal to
0

ta) 0

(b) 202 -1
@ 242

(@ 2042 +1

If ¥ = a cos 2x + b sin 2x, then

(a) %+y=ﬂ

(h) j)}i +2y =10
X

{e) %—4}5:(}

{d) %+4}r:[}

A given gquantity of metal iz to be cast into a
half eylinder (i.e. with a rectangular base and
semicircular ends). If the total surface area is
to be minimum, then the ratio of the height of
the half cylinder to the diameter of the
semicircular ends is

() m:lm+2)

(b) (m+2):m

e} 1:1

id} None of the above



e | A

85. Qi cos xdx TorEeh saET % 7
0
a) e+1
by e-1
e e+2
d)y e
; x—2 -1
86. I (x)= Cx# =28 7 flix
X+ 2
T 2 7
{a) dx+2
x-2
+2
R s
W =
(c) Xx+2
x—2
(dy 201 +x)
1-x
B7. I In(x*)dx e =g & 9
ta) 2xinix)-2x+c
ib) Z e
X
(el Z2xinlx)+c
{d) % Jti'-“-!i — 2%+
X
EDF-5-DGYV

88.

89,

ferereh

(24-A)
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forg (4, 208 y* = 8x 1 sroaan it frah R
87

(a) 2
(b) 242
ey 2

d 342

y-3E H qefag W oo we A gu-fem
1 el FHIF B

x2+y2-2x3.r~q-'}; =0

a)
5 dx

n o d_:!;r
(b  x%+y° +2xy=t =0
Y ydx

X% v+ 2xy dy =0

i
¢l dn

xg—}'z—zxyd—}r =0

d
(d) T

s w47 L o( ) oy x
Hed # Frefofas o faar Hifaw

1. wra%el adier =i am (ferfi) 18 |

2, oo AR o Fife () 2 7 |
ST FeE A F BV FE R /E 2

Had 1

Had 2

1371 2 g

Adl 1, A8 2

(a)

(b}

{eh

(d)



CaaglasenhAgdrasen

88, The minimum distance from the point (4, 2} to

b4
- yZ = 8x is equal to
85, e Feosxdx isequal to

]

{a) J2
b) 242
a) e+1
ey 2
by e-1
(d) 32
ch e+2
89. The differential equation of the system of
@ ¢ circles touching the y-axis at the origin is
{a) :~:2+:,r2—21-;:,rE =0
dz
X— — |
86. If fix)= , & = -2, the hat is f (x} :
x) 5 x en W i ) x‘a+}fﬁ+2x}':—i=ﬂ
equal to ?
4(x +2) (e} :-:2—:.*2+2:¢::-f‘:1—:"r =0
(a) dx
x-2
LW 2 — v —2xy ST =
tb) i+ 2 dx
4fx — 2]
x40 90. Consider the following in respect of the
(e) x_9 - differential equation :
[ 2 i ™ 2
(d) 3(1+761 d -::; +2Ld_yJ + Oy =x
l1-x dx dx
1 The degree of the differential equation
is 1.
87. Whatis I In(x?) dx equal to ? 2.  The order of the differential’ equation
15 2,

s O
U ERIREEARE Which of the above statements is/are correct ?

(h) ;2( e {a) 1only

{¢c) Zxinx)+e (b) 2 only

e} Bothland?2

_2 Ini(x) o
x (d) Neither 1 nor?2

(d)

EDF-S-DGV (25-A)



91, sTaehe THIEH g'—"+5:u 1 9% B 41 | 95,
X ¥
22
(a) x°+ _v,r2 =g
by x°— s-z =¢
@) x°+ FE = £xy
dl x+y=¢
96.
sin =0
92. kAR AN A E N fo=] . W
k x=0
x = 09T Tag T 8§ ?
(al 2
(b} 1
ey =1
@ 0 gt
98. a’x + bly FT =AW AN, TEl xy =’ B, FN 2 ?
(a) abe
{b) Z2abe
el dabe
id) dabe
94, I * M Qe TeREe w7
X
ia) +c 98.
Inia)
B -2 e
b fr{a) L
X
e
W ﬁl:tiiu-t:] =
d ae”
e
EDF-S-DGV (26 -A)
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%y=csinxﬁ(x—ﬂﬁ$ﬁﬁﬁﬁﬁw

(S19) it &Fher 741 8 2

fa} ¢

(b} 2c

fc) 3e

id)  4e

Ilﬁ sin 8 + cos 0 = /2 cos 0 %, Gl
{cos 0 — sin 8) TohEeh TR 2 7
(a) —2cosh

(b) - V2sing

(¢) /2sind

(d) 2sin0

U T ST =8 44 om #, 3G O ST i
& 22 cm R | Sftan 1 @y w9 i oward
27

{a) % ¢
(b) % cm
(e %f—il cm
{d} % cm

aﬁsinh-%aﬂ‘(mne:‘% 8, @ o fem
Fqule ¥ wd # 7

fa) WUH
by fadfta
(e) ™

(d) =¥



al.

8z,

3.

What is the general solution of the differential

equation d—y+£-—{} ?
dx ¥
2 2

(8) x+y
(b) x°— }rz =e
(€) x>+ 3;2 =Xy

dy =+y=c

The value of k which makes

]sinx x=0 1
fix)= continuous at x = 0, is
lx  =x=0

{a) 2

by 1

(e} =1

(dy O

What is the minimum value of a®x + bﬂy

where xy = 27

{a) abe
(bt Z2abc
() 3abe
(d) 4abc
94. Whatis .[ g* Infal g equal to ?
Lal +¢
Inia)
X
b SR .
&) fnia) ik
EK
{.L) m‘a‘ej} +
X
d aeg
@ In{a) e
EDF-S-DGV

95.

96.

97.

98.

(27 -A)
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What is the area of one of the loops between
the curve v = ¢ sin x and x-axis ?

{a) ¢

bl  2ec
{c} 3¢
d)y 4de

If sinB+cosl= \Ecusﬂ,
(cos ® — sin 0) equal to ?

then what Iis

(a) —A2cos0

(b) - 2sin0

(¢) +/2sin0

id) 2sing

In a circle of diameter 44 em, the length of a

chord is 22 cm. What is the length of minor arc
of the chord ?

{a) %;-TLI cm
{b) @ cm
21
el E CITl
21
44
(d}) — em
7
; 1 1 i .
Ifsin 8 =— = and tan 8 = —, then in which
2 3

quadrant does 6 lie ?

{a) First
(bl  Second
{c}y  Third
id} Fourth
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99. 7F 1, 2, 3, 4 3 5 FH TG Hk 919 FHi A1 103, UF ygA o9 G A, B o = owm g
foraft w9 T sAEft o At #, sEfE st el o FI B w3 f Wilwan s L,

! gty ot sl 787 @ 2 ; &
(a) 36 2 oit 1 # 1 AR Y wft w w A A A
(b} 30 7l W0 8 35 " 1 wrlepa @4 2 5w
(c) 24 =1 &l fie s 2
(d) 12 ;
(al jg
100, h 5978 1 Uh HAX & Th fag A °, W1 15 o1
oHR % i 2feor @ R, IE F0 x 2 AR TH ) 2
fog BE, 1 5 A% 18 & 4 8, 399 w01 25
21| 4fg AB =2 3, @1 Frafofige d & = u © 93
HER? 23
id) 32

{a)  h®(cot® y — cot® x) = 2°

104, Freger ami 3 ww g # S (SgHEn) S

(h} zzicntzjf—mtzx}:hz %Iﬁaﬁﬁ?mﬁﬂgmﬁﬁﬁwiﬁ
@ hZttan?y - tan? %) = 22 ifeRar #4T 8 o5 gat T o et w1 A TR
; UTE 2k et & 0T o HAfgew # 7
id} ;r.zifi;:ﬂ'lz_'f—1:;q1.n2 %) = h? 1
a) =
101, @1 #i vw g @l afgomm i’
Sd # | =EEe 99 % U gaehl B i SifeRar b &
TR 7 .
1 ch -
(a) — 12
51 .
4 )y —
b = 18
51
o & 105. v fevar foess &1 oten T o wmy @ Wy
52 wh aEfiEE T w e T | d fam %
@ HILHY 2 AT 4 A 6 WIH A FI WirRar 4
13 As
102, 7 A 3 B 7 weand 3w wwn @ R @ L
P(A) = 0-5, P(B) = 0-6 3 P(A N B) = 0-4 8, 74 “
P(AURB) foras ames 2 7 () %
(a) 08 1
(h) 07 Y
(d) 03 w8
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99,

100.

How many three;digit even numbers can be
formed using the digits 1, 2, 3, 4 and 5 when
repetition of digits is net allowed 7

(a) 36
(by 30
(e 24
dy 12
The angle of elevation of a tower of height h

from a point A due South of it is x and from a
point B due East of A is y. If AB = 2, then
which one of the following is correct ?

(a)  h?(cot? V- cot® x) = 22

(b 2% (cot? ¥ - cot” x} = h?
(e) h? {mnﬂy—tunﬂ x)=2°
(d)  7°(tan® V- tan® x) = h%

101. From a deck of cards, cards are taken out with
replacement. What is the probability that the
fourteenth card takenout is an ace ?

1
{B.:l E_l
4
ib -=
) 51
1
] E
1
(d —
) 13

102, If A and B are two events such that
PiA) =05, P(B) = 0-6 and P(A N B) = 04, then
whatis PLAUB ) equal to ?

(a) 09
{(by 07
{e) 05
(dy 03
EDF-S-DGY
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103. A problem is given to three students A, B and

104,

105.

(29-A)

C whose probabilities of solving the problem

are %, ii_ and % respectively, What iz the
probability that the problem will be solved if
they all solve the problem independently ?

29

(a) 32 .

27

W =L
th) 35

25

(e) 35

23
d —
32

A pair of fair dicg is rolled. What is the
probability that the second dice lands on a

‘higher vlue than does the first ?

(a) %
(b) %
© %
@ =

A fair coin is tossed and an unbiased dice is
rolled together. What is the probability of
getting a 2 or 4 or 6 along with head ?

(a) %
(b) %
{c)” i
@ %
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106. af2 A, B, C & 7ord &, & 30 @ Fu-dww (109, vH D@ (100) Juwii w mEr 50 B e I

HeAIAT % Tk H1Y " & qifierdr o 8 7 Ak feree 10 2 | afe v Yaw § ® 5 e
PANB)+PBNC)+BCN A fer s & e foee 3@ 4 & fasnfom w7 fen
AT B, A T Hed A A9 A T e

{al

iby PAN B+ PBMNO+ FHCNA) -
PANBAC w7 BA 2

¢ PANB +PBNC+ BCNA -
2PANBNO {a) 45,5

(d) PAN B + BN C + PC N A) -
BEE A BTN (b)  11-25,1:25

107. af2 21 =1 X o Y TW&eF 8, f 39 s ggey (@ 1125 25

Ui R 2

(a) 1 (d) 125,25

by -1

@ 0 110, =fz 21 froaeg 9t =1 Her wmaT 8, 99 39 AW
(@ I i @ 1 gl s w0 @ R TR W W 6

3, wafE g foan gon 2 6 arEt o ey o

108. 21 @3 WA A B W wen § & H1 ANTEA 8 @ 7

P{Auayzgafltf*mnn}:%%l

1
afd P(B) < P(A) 2, 9 P(B) ek s 2 7 (@ 3
1
(a) =
: b 1
4
1
b ot
®
1 © =
w)
® 3 ;
1 : l

EDF-S-DGV (30 -A)



106. If A, B, C arc three events, then what is the

107.

108. Two independent evenis A and B are such
that P(A W B) = g and P(A N B) = é If
P(B) < P(A), then what is P(B) equal to ?
;N
( =
a) 2
¢
by =
3
ie) +
2
1
d =
( 6
EDF-S-DGV

fa) 1

b} =1

(e} 0O

(d) None of the above

probability that at least two of these events
oceur together 7

fa) PANBI+PBNC +PCNHA)

ib) PAN B+ BN O + PIC N A) -

PANBNCQ)

PANB +PBNC+PCN A -
ZPANBN O

{e)

(d) PIAN DB+ PBN O + PIC N A -

SPANBNC)

If two variables X and Y are independent, then
what is the correlation coefficient between
them 7

109.

110.

(31-A)
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The mean of 100 observations is 50 and the
standard deviation is 10. If 5 is subtracted
from each observation and then it is divided
by 4, then what will be the new mean and the
new standard deviation respectively 7

{a) 45,5

(b) 11-25, 1-25

{e) . 11-25, 25

(dy 124,24

If two fair dice are rolled then what is the

conditional probability that the first dice lands
on 6 given that the sum of numbers on the
dice is 87

(a) -;-
b %
(eh é

]
@ ;
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111, 31 gl arel ) Foren o ¥, YerE ad %[ 118, T % 52 W A o @ A o A agfees
3w @E WA, 9wl o 8, v i Tl w9 W T AT B | g\ A A w2
o s A ek (| S TR O 8 e & (v ) A 2
&1 wifreran @ 2 6 41 W us S e 0

1
{a) ﬁ
3
(a) —
" 18 3
b ]
(h) T
2
(b} 9 5
(e} ﬁ
5
{Lj ﬁ |
(d) n
1
(d -
} 3

114, T U F S AW Fa Fra1 g i I8 5 @

112, % 709 ¥ n GORE Rl T w_mwm::msnmaﬁﬁﬁ
% § | afz 2 e IEfeom =9 | Tt wdt # Fel GEA 61 q1eq AN W e s R
aﬁt%ﬂmﬁm&m%ﬁ%ﬁg—ﬁgﬁ

g 16
+ . f_“:} - —
S e @l o n T HH R Y 3°9
ia) 3 8 4
(b} g
{b) 4 -
( - -
(4] 3’3

e} 5
: 4 16
id) E.?

d) 6
EDF-8-DGV (32-A)



111.

112,

EDF-3-DGY

Two symmetric dice flipped with each dice
having two sides painted red, two painted
hlack, the other
painted white. What iz the probability that
hoth land on the same colour ?

one painted yellow and

{al faﬁ
(b) g
(e :_S
) %

There are n socks in_a drawer, of which
3 socks are red. If 2 of the socks are chosen

randomly and the probability that both

selected socks are red is -;;, then what is the

value of %
fa) 3
by 4
¢l 5

dy 6

CaaglasenhAgdrasen

113. Two cards are chosen at random from a deck

114,

(33-A)

of 52 playing cards. What is the probability
that both of them have the same value ?

{a)

(b}

(c)

{d)

In eight throws of a die, 5 or 6 iz considered a
success. The mean and standard deviation of
total number of successes is respectively given
by

5 16
a)  —, —
@ 2.3
dy =2
3 3
el i s
a8
i L.
4 9



115.

1186.

117.

T HeAT A i B 3@ v B B A 3R B
gt 31qEat 2 | I PA) = 05 ST PB) = 06
2, A1 P(A|B) 1 O F91 & 2

1
1
® o
(c) 3
]
1
{d) 5
Frofafiag e w® ffEn fifsw

1. Al % UF T H Fh g A Y
el #1 dista TTER WET Y A
2|

9. U Gufie "1 % fog
| HTET > HfEeR] > TEEH (A1), |
I FeEl W @ BHAVE v AR 2
(a) FA 1
(b) Had 2
{c) 131 2 2
(d AdAL1L TE2

oW fife X 3t ¥ % = gghEy T 06
2 | afess w7 ot W 39 YR 9 @
ﬁz:xweﬁw:%%tzﬁw%aﬁa

TEEEY O 8 7

fal] 01
(by 02
() 036
dy 06
EDF-5-DGV { 34
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118. I 1 3fft 20 % o= F @uft u= QU] # 3 W
oy = femm S 2, @ wftordt Aof s wEw
w8 7

{a) 9975
(b) 19975
(c) 29925

(d) 389-25

119, 39 =1d i Wil #=1 # f Rt g9 & 06
et forg 3uht ofifs & omden 35 F5 %

wferer adim B 7
(a) %
(b} é
{c) %

) =8 Fauife w8 fe = awa

120. 32 A 3T B2 oA &, 79 A A T A A
HZT B gfed B o wilmar F g 2

(a) PLA)+ PIB)

(b  PAUB)
(e}  PANB]
(d) P(A) P(B)

—A)



115. A and B are two events such that A and B
are mutually exclusive, If FiA) = 056 and
P(B) = 0-6, then what is the value of P(A|B) ?
ta) E
5
1
by =
a8
2
{Cj E
: 1
idy =
3
116. Consider the following statements
1.  The algebraic sum of deviations of a set
of values from their arithmetic mean is
always zero,
2, Arithmetic mean = Median > Mode for a
symmetric distribution.
Which of the above statements isfare correct ?
{a) 1only
(b} 2 only
(e} Both1and?2
(d} Neither 1 nor 2
117. Let the eorrelation coefficient between X and
Y be 06, Random wariables 7 and W are
defined as Z =X + 5 and W = %—.W’hat is the
correlation coefficient between 7 and W ?
(a) 01
b 02
e) 036
id) 086
EDF-5-DGY
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118. If all the natural numbers between 1 and 20

119.

120,

(35-A)

are multiplied by 3, then what is the variance
of the resulting series ?

(a) 9975

(b} 19975
(e} 289925
{d)  399-25

What is the probability that an interior point
in a circle is closer to the eentre than to the
circumference ?

: 1

{ =

a) "

1

bl =

f 2

3

{ St

c) 1
id) It cannot be determined

If A and B are two events, then what is the
probability of occurrence of either event A or

event B ?

(a) PlA)+ P(B)
by P(AUB)
(e} PANB)
id}  PlA)P(B)
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Fa HH + 10 Sg
SPACE FOR ROUGH WORK
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e hTH o foru ST
SPACE FOR ROUGH WORK
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H HwH o fore ST
SPACE FOR ROUGH WORK
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& W o forg wTg
SPACE FOR ROUGH WORK
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOUT ARE TOLD TO DO 50
T.B.C. : EDF-S-DGV Test Booklet Series

TEST BOOKLET
MATHEMATICS

##
Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 300
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECE THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR TTEMS,
ETC. TF SO, GET IT REFLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepaney will render the Answer
Sheet liable for rejection.

3.  You have to enter your Roll Number on the
Test Booklet in the Box provided alongside,

DO NOT write anything else on the Test Booklet.

4, Thiz Test Booklet contains 120 items (questions). Each em is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case yoa feel that there is more than one correct response, mark the
response which you eonsider the best. In any ease, choose ONLY ONE response for each item.

5. You have to mark all your ré&ponses ONLY on the separate Answer Sheet provided. See directions
in the Anawer Sheet.

6.  All items carry equal marks.

7.  Before you proceed to mark in the Answer Sheel the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per ingtructions sent to you with your
Admission Certificate.,

8.  After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheel. You are permitted to
take away with you the Test Booklet.

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers !

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE

OBJECTIVE TYPE QUESTION PAPERS. —
(i) There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given hy the candidate, one-third of the marks assigned to that question will be deducted as

penalty.
(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given

answers happens to be correct and there will be same penalty as above to that question.

{iii}  Tfa gquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question.

DO NOT OPEN THIS TEST ROOKLET UNTIL YOU ARE TOLD TO DO S0
e d - SRR R T 39 I % qE 78 WO R |
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